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K4 ouT IN TOTAL |HDCP| NET [I=Fiva K4 ouT IN TOTAL |[HDCP| NET [[=Liva
IMNE RE 42 40 82 15 67 AT R 39 43 82 12 10
a7 FF 40 40 80 12 68 A4 ik 4 39 80 6 14
RHE A 45 40 85 16 69 HFAX H—- 40 40 80 4 16
s " 46 48 94 15 19 S =l f@a 44 47 91 10 81 S
B [ F—LUANT 204 1 F—LPal)— 220 4
hE A 4 41 82 13 69 EFH Fl-— 4 41 82 10 12
Sl BE 45 44 89 18 11 E23 E5 45 43 88 13 15
EO && 48 44 92 20 12 /A OESE 42 42 84 6 18
R&INER 47 47 94 13 81 S Enr B# 49 49 98 12 86 S
A HI= 212 2 BO= 225 5
GES - PN 36 38 14 5 69 B &R 42 40 82 9 13
- H5 44 42 86 13 13 miE =7 40 48 88 10 18
il B 43 43 86 11 15 =F A 44 42 86 6 80
ME Fx 44 50 94 14 80 X BEHE 45h 45 47 92 12 80
EiE | 2431 217 3 T7ILANRBR 231 6
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